7th math

1. s as:-

@ &

(b)

first w s EREE

()

“ N N AN

mHIYI3 fifw
HIH T8

1

3 -—

0] Xy
iy 2 2
U EXT
Y 5

27

g2
(iii) .x3
N
(iv) -_12

2. yIw A § 85 % g aed falasn gu T fad w3 fimes B € gu e wend

(Fag AIw 37)
0 4!% (i) le% (i) %xﬁ
(iv) -3—><5 v) Z%M (vi) 10%*‘5
(i) 5x6% (v ngs
3 dsa3:-
y ! . 2 1
(i) 46%¥v E (i) 27%€ ; (i) 36 €T ;
; 3 : 3
v 16% 7 » 35T
4. wfew nifaz a3:-
1) muuéwfsz‘rarém
(if) m(méﬁ'aa*er%?'ar
(i) H"Elﬂ(r)@'ﬁﬁ?“?% grar
.- e @ NN
L_E L] O O ANAA
L B O O AAAA
(a) b) (c)
28 mifeg - Vi

5 mmm?u.mmaﬂ'ﬁvél%a’amm»mmw% oY Feer I M
&t mndes ©t 497 gaer 7| @n @ wdtsrerg deg ugT &9

6. feafagaetahzz iy % 318 fagrat @ stz uzr @1

7. wg-feamit yus :-

B ZoaBsuaas

(i) 16e
(a) 48

(b)

8

(ii)y 40 fife, 1 wie = fda=r a1 g 7

2

(a) 3

(iv) fo9a e efen nifag v faoat fas eam@er o 7

i |
a) 3

3
() 1

(b)

(b)

)

40

wi

B =

d) 1

@ 24

@ 3



= T 3400

= .
-:;;{ EXERCISE - 2.2 |
- - i
1. Match the following :=
(a) m 3 xl
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1 E
(b ) (i) 2x§
Fractions and Decimals 27
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2. Multiply whole number to a fraction and reduce it to the lowest form. Also convert
into a mixed fraction :
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4. Shade :-
1
(i) 5 of the rectangles in box (a)
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(i) 3 of the circles in box (b)
1 : .
(iif) B of the triangles in box (¢)
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5. Rahul earns ¥ 44,000 per month. He spends %Ih of his income every month and saves the
rest of his earning. Find his monthly savings ?
1
6. The cost of abook is ¥ 117 = . Find the cost of 8 books ?
Multiple choice questions :-
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{#1i) What fraction of an hour is 40 minutes 7
N B 40 1 g 4
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(iv) What fraction does the shaded part of figure 2.4 represent ?
1 2
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